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2. fX)=x4-16 Factors: RoOOTS:

(%4 2)

(x-24 )
( ¥ 1 21)
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3. fCO)=x3-2x2+9x~-18 Factors: Roofs:
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~ Directions: Using the given factor, find all remaining factors and then determine all roots of the f

~a graph with this information.

4. fe)=x3+5x2+2x-8 Factor: (x - 1) Roots:
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7. ) =x3-2x+1 Factor: (x - 1) Roots: Graph:
Hint: Use Quad Formula o solve for missing roofs! BRSNS

aj v o -2 | Nz - E._‘\jllﬂ‘, YO Sl\ S (5 Wi x5
\l/ : _L e 7. (_\’\) | L i 2t
‘ ’ -) ’\gz) )(Z..VN:EI&T;~ _?fL#:FT

IAEe

EnneEEED]

L ¥ 1}

»—‘.w.‘

3

. ——

P T A —
U

il
i

EsNENEEr 48500

2 4

-
!

REalx—) ks (/K | - \!é\}(’z'/ -1 +42)

Y B )
LR L L
b gl

Directions: Solve for x.

8. 2(x-2)(x+12=0 9. Logx=4)

_2’(: y %7”3 1= X
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